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Ibkvfh XjbkdhgkmevlZ ?\jhi_ckdh]h dhkfbq_kdh]h Z]_glkl\Z

hl �� k_gly[jy ���� ]h^Z gZ bfy =_g_jZevgh]h k_dj_lZjy

?\jhi_ckdh_ dhkfbq_kdh_ Z]_glkl\h \ khhl\_lkl\bb k Dhg\_gpb_c h

j_]bkljZpbb h[t_dlh\� aZimkdZ_fuo \ dhkfbq_kdh_ ijhkljZgkl\h*� mqZklgbdhf

dhlhjhc y\ey_lky ?\jhi_ckdh_ dhkfbq_kdh_ Z]_glkl\h� bf__l q_klv ij_ijh\h^blv

bgnhjfZpbx h aZimkd_ kimlgbdh\ ;00 b &OXVWHU �kf� ijbeh`_gb_��

__________________

* J_ahexpby ���� �X X IX ) =_g_jZevghc :kkZf[e_b hl �� ghy[jy ���� ]h^Z� ijbeh`_gb_�
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GZbf_gh\Zgb_ dhkfbq_kdh]h]h h[t_dlZ� X M M

AZimkdZxsZy hj]ZgbaZpby� ?D:

H[hagZq_gb_� E S A /9 9 /1

>ZlZ aZimkdZ� �� ^_dZ[jy ���� ]h^Z

F_klh aZimkdZ� Dmjm �NjZgpmakdZy =\bZgZ�

IZjZf_lju hj[blu�

:ih]_c�

I_jb]_c�

GZdehg_gb_�

I_jbh^ h[jZs_gby�

:j]mf_gl i_jb]_y�

Ijyfh_ \hkoh`^_gb_ \hkoh^ys_]h

maeZ�

Iheh`_gb_ gZ ]_hklZpbhgZjghc

hj[bl_ �]jZ^� \�^���

11 4  0 0 0 df

7  0 0 0 df

4 0 ,0 ]jZ^�

2  8 7 2 fbg�

5 0 ]jZ^�

2 6 1 ]jZ^�

g_ bf__l hlghr_gby

H[s__ hibkZgb_

dhkfbq_kdh]h h[t_dlZ�

Hkgh\ghc gZmqghc aZ^Zq_c

j_gl]_gh\kdhc h[k_j\Zlhjbb X M M
(chklhys_c ba h^gh]h kimlgbdZ
N e w to n )  y\ey_lky ijh\_^_gb_
j_gl]_gh\kdbo ki_dljhkdhibq_kdbo

bkke_^h\Zgbc

IeZg qZklhl�

A_fey±dhkfhk�

Dhkfhk±A_fey�

2 0 4 8 ,8 5 4 1 7 F=p �T C /T R )
2 2 2 5 ,0 0 0 0 0 F=p �70�75�

=hkm^Zjkl\h xjbk^bdpbb� …

IjhqZy bgnhjfZpby� …

__________________

* J_]bkljZpbhggu_ ^Zggu_ \hkijhba\h^ylky \ lhf \b^_� \ dZdhf hgb [ueb ihemq_gu�
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GZbf_gh\Zgb_ dhkfbq_kdh]h]h h[t_dlZ� C lu s te r  I I

AZimkdZxsZy hj]ZgbaZpby� ?D:

H[hagZq_gb_� E S A /0 0 /1 – 4

>ZlZ aZimkdZ� 9 Z\]mklZ ���� ]h^Z

F_klh aZimkdZ� ;Zcdhgmj

IZjZf_lju hj[blu�

:ih]_c�

I_jb]_c�

GZdehg_gb_�

I_jbh^ h[jZs_gby�

:j]mf_gl i_jb]_y�

Ijyfh_ \hkoh`^_gb_ \hkoh^ys_]h

maeZ�

Iheh`_gb_ gZ ]_hklZpbhgZjghc

hj[bl_ �]jZ^� \�^���

1 2 5  0 1 0 df

2 5  5 1 3 df

9 0 ,0 ]jZ^�

3  3 0 0 fbg�

3 4 4 ]jZ^�

2 5 6 ]jZ^�

g_ bf__l hlghr_gby

H[s__ hibkZgb_

dhkfbq_kdh]h h[t_dlZ�

Dhkfbq_kdZy ]jmiibjh\dZ C l u s te r – I I
khklhbl ba � kimlgbdh\

( R u m b a ,T a n g o ,S a ls a  b S a m b a ) ,
kh\_jrZxsbo ihe_l gZ g_[hevrhf

m^Ze_gbb ^jm] hl ^jm]Z� GZmqghc

aZ^Zq_c ijh_dlZ y\ey_lky bamq_gb_�

\ qZklghklb� kheg_qgh]h \_ljZ b _]h

\ebygby gZ debfZlbq_kdb_ y\e_gby

gZ A_fe_�

IeZg qZklhl�

A_fey±dhkfhk� 2 0 7 0 ,9 5 4 1 7 F=p �T C /T R )
2 0 7 7 ,4 0 0 0 0  F=p �T C /T R )
2 0 9 0 ,2 9 1 6 7  F=p �T C /T R )
2 0 9 6 ,7 3 7 5 0  F=p �T C /T R )

Dhkfhk±A_fey� 2 2 4 9 ,0 5 0 0 0  F=p �T M /T R )
2 2 5 6 ,0 0 0 0 0 F=p �LF�LR )
2 2 7 0 ,0 0 0 0 0  F=p �LF�LR )
2 2 7 7 ,0 0 0 0 0 F=p �LF�LR )

=hkm^Zjkl\h xjbk^bdpbb� …

IjhqZy bgnhjfZpby� …


